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TEST NUMBER TWO FOR MTH221 SPRING 007

AYMAN BADAWI : ‘
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QUESTION 1. (15 points) After a long day at AUS, in your way back home
driving your air-conditioned car, you heard the AUS Math. radio station m.13.
Ezplain CLEARLY in at most two lines the meaning of the following statéments

that you heard on the radio:
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QUESTION 2. (10 Polnts) Let F={la+c||a ke R}
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QUESTION 3. (6 points) Let D =
subspace of R**2¢ [f no, then tell me. why not!! if yes, then find dim(D).
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QUESTION 4. (14 points) Let M = {f(z) € P, | f; f'(z) dzw =0}
(1) Show that M is a subspace of Py.
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QUESTION 3. (6 points) Let D = {A € R?*? |ayy+agy =1}, Is D a , 1
subspace of R®*2? If no, then tell me-why not!! if yes, then find dim(D). -
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' QUESTION 4. (14 points) Let M ={f(c) € Py | f} f'(x) dz = 0}.
(1) Show that M is a subspace of Py.
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QUESTION 6. (15 points) Let A = |
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QUESTION 7. (5 points) Find o basis for P, that contains the following two
independent polynomials: —2 + 1z, 1 + 22 Corbret ;
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QUESTION 8. (15 points) Let A —1 ~’2 -4 1 2 2
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THERE WILL BE CLASS ON MONDAY. WE START CHAPTER 4.

DEPARTMENT OF MATHEMATICS & STATISTICS, AMERICAN UNIVERSITY OF SHARIAH, P.O. Box
26666, SHARJAH, UNITED ARAB EMIRATES
E-mail address: abadaviCaus.edu, wwy. ayman-badawi.com
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